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A) Select the correct answer 

1)  Only one of the following series diverges 
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3)   The sequence 
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a)  Diverge          b) converge to 5                     c) converge to 0                     d) converge to 1 

 

 

4)   The sequence 
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a)  Converge to 0          b) converge to 2                  c) Diverge                       d) converge to 3 

 

B) Test the convergence of the following 
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Abs. Converge by Ratio test 
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2)  
       

  
 
  

   
   

     
 

    
   

 
       

  

 

    
   

    

 
          

Diverge by root test 

 

3)  
       

   
 
  

 

   
   

     
 

    
   

 
       

   

 

    
   

    

  
          

Abs. Converge by Root tset 


